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Here it is the 21272 of that kingdom — mson MR B 'avmnea IND

OVERVIEW

JTYOR 2 prx° M in the name of 7°p1n resolves the contradiction between our 71wn
(which states that a city that was conquered by the 21373, all the mind are M?109),
and the other 71wn (which states when a nw?2 enters a city in the time of war, all
the wine remains 7n1); that one 7wn is discussing a 01372 of that kingdom, and
the other 71wn is discussing a 01273 of another kingdom. There is a dispute between
"w1 (who maintains that by mo%» X 5w 01372, the wine and the women are )
and N0 (who maintains that by mM2%» 70X, the wine and women are M0OK), as to
how to explain this answer.

- 559251 DY NID W >HINm JN5INN PRY 199 NVA PAVPY ‘v
The explanation of the answer is that the Mm% nmX W 01070, are resting
securely for there is no other camp of enemy soldiers coming after them (for
they are in their m2%» and therefore there is time to pour wine to their 1"y and to

be ®¥12 the (Jewish) women -
- Y9 119 PN DNTY NDIN INAY MM NIIORY NINK MAVN YV NWHA HaN

However the raiding soldiers of another kingdom, who are afraid of the

soldiers of the kingdom they invaded, have no time w2 7o1°.
- *mYui9da N 191 O 1329 INIIN 13929 W9 199

And the 1''9 and the n''1 also explained it in this manner and this is also evident

in the "Wy T%N that by M>don amx Y@ 01979 everything is 7oX and nAR Mo Sw
everything is .

Mmoo explains the continuation of the xmx:°
- 1715939 'RIN NPAY K97 AWON SN M50 NN HY 01999 79999

' 01972 means a siege (see 01212 1"7 *"w). The army which laid siege on a city captured it and entered into the city.
* The word w1 is the customary manner in which n19o1n implies that he is negating another interpretation; in our
case, ""Ww1d, as mentioned later in this N1901N (see footnote # 13).
? Let us assume the 01275 captured a rebellious city within their country; no one is coming after these soldiers; they
just defeated their enemies and there is no longer any opposition.
* They are in a rush to take whatever booty they can and run away before the local soldiers come.
3 In our v"7 p1®. See there (in our editions 2,7) that the rule of the 71wn is 5w DPAD AR MOHM MK 5w D1PI3 T2
071 2°VD?2 NNXR Md?K’, and the women are NN
% According to *"w1 that mabn MK YW 212732 they are MAN, the question of the X3 that "1 711 Py K97 X'X is
understood, that there is always the possibility that one soldier would leave his company and either be ?¥12 or Jo1n.
However according to maoin that by n1o%2 1Mk 2w 01973 they are MMoR, what is the question of 21 Py X97 X"X.
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And the X3 asks, why is it that by n1o%2 7nI8 @ 21993 all the women are MOK,

since it is impossible that none of the women escaped from the 2175 -
- Y9ymn N9awaT X9YPY 91919 179195 11399WnY 19 M)

And on account of this one woman we should permit all the women n2370% and
assume the lenient view regarding each woman, for the 2°non were lenient
regarding a 773w —

Mmoo proves his point that it is appropriate to say 12°p77 7"2w3 in this instance (even though the
majority of the women did not escape):
- 1919 MIN9N 59 Yy NN NNR ANYANN YW BN 1101 1399875

As 72X 72 "X 217 says shortly in the name of XWX 72 prix> ', if there is one

hiding place in the city, it ‘saves’ all the N1 that they are all m7nm (even though not
all the Ma7> can hide in this X127, only a minority [at most]), similarly here since (at least) one
will have escaped, all the women should be permitted.

mooIn responds to an anticipated difficulty with this proof:
- 9T )9 XVIYS NN NN KON NPINN NN 19 NPODNT 23 Yy 9N

Even though 7°17° "1 poses a question if the X127 can contain only one woman,
is it 2% on the rest, nevertheless here (by escaping), it is obvious to us that all

the women should be permitted; the difference is -
- Zn;mqy snT) N9N YAN INANI INTY KD ONNT

That there by the X127 it is not certain that even one woman hid in this 7X2m2,
therefore there is room for doubt whether it is 1910 ¥ n¥n, however here (at least)
one woman certainly escaped, therefore we can judge each woman that she is the escapee.

Moo now challenges *"wrs:"

" The text in our 813 reads ¥1»1°n 10 (n"27 °9% ,9pY) Py &27 in the masculine, (seemingly) referring to the soldiers,
not to the women. See %"w9mn (and the "7 MK 2°37°%Y MAXT on the margin of the (newer) NMA3).
¥ It is virtually certain that (at least) one woman escaped and is certainly n1nn. We should therefore rule that each
woman is NN for perhaps she is the one (of the few) who escaped.
® The rule that a 72w is 71972% 70K is (merely) a 73277 7, since we are not certain that she was 2"12y% #oya1.
Therefore the 02311 ruled that if there is a 750 in their 712w status, we assume the lenient position and she is nan.
' See later on this T1y.
" mooin explained that the question was since one can escape, they should all me M. However we see from this
XK of NAX KPR NpIAn AR, that we are in doubt whether we say that since one woman can hide, therefore all
should be n17nn. Why should the possibility of escaping be different than the possibility of hiding?!
'2 We are not certain if any of the women were aware of this 7X12m2 and additionally we are not aware that any
woman actually had the opportunity to hide in this particular 7iX12r7% (see ‘Thinking it over # 1). However it is a
virtual certainty that in an entire city (at least) one woman managed to escape entirely from the soldiers. The X723
answered that there was extremely tight security and no one was able to escape.
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- x9Y99 19950 ANYINN 23N XAMINY 29N) P2997 RTH XD WD DIVIPN YIS
And there are many difficulties on >'"w=p; firstly (#1), the X723 initially asks
that we should assume the stricter view (that perhaps one soldier managed to
leave his group and be %312 or J01n) and therefore all the women (and wine) should
be MMOXR on account of one, and on the other hand regarding the 7X¥an»n we

assume the lenient view (that perhaps some women hid) and therefore all the woman are
mAm» because of the possibility that some hid!"

An additional question on *"w75:
- Bryh 1019Y NWHA 2INP NN DYY 39 DTN PN 79919 XNNY 1017 xnm Nt

And additionally (#2), what does the X713 answer, that the king placed chains,
etc. around the city, etc. so no person can enter the city (and that explains why
in 1"V it is °Mn), but how can the X773 state this when the ;73w» states, ‘a nwha
which entered the city; it is evident that the soldiers entered the city.

Another question on *"w78:
- 19‘[0)1 111993910 1N PI9Y RDT AYAN N 9139125 15D 1IN 7999 N9 NNHAYT NININT 119D I

And furthermore (#3), since the X713 is asking the question of 121 Py K77 R"X,
on the mwn of 1"y 'on (where it states that 7an%n nywa all the wine is W), the
X3 should have phrased the question, ‘it is impossible that one of them did
not escape and was e’ —

A further question on *"w7%:
= 703D N9 PPNV 297 NNYV Y91 DNNT TV

5"y (in 21975 7"7) maintains that by 01995 MK YW 21973 the 2°w3 are MM, for the king wants to protect them.
' According to mooIn, however, both the question of 21 X7 Xpaw X7 K"K and 7X1277 are both X2p 13790,
' If we are permitting all the women on account of the one (or few) that hid; how can we possibly be 70 all the
women on account of one who was maybe 77v21?! See ‘Thinking it over’ # 2.
'® The xm3 asked why by mabn amx & 21373 (the 73w in 1"y according to *"wA) they are MMy, perhaps one of the
soldiers was able to escape, enter the city, and be 7¥12.
' It would seem (according to [Mmoo1n understanding of] *"w19), that the war was waged outside the city and (once
the city was conquered) efforts were made that no one should enter the city.
'8 According to moown, however, the chains in our 7wn, we placed inside the city to assure that no woman escapes;
however (even if we assume that in the 73wn of nwHa there were also chains, nevertheless) they were not made (that
secure) to assure that no one enters (especially raiding soldiers).
% According to "1 (in Xwp &9 7"7) the question (on the 7wn in 1"¥) is why is it .0, perhaps one soldier left his
post and was ?°va (and others maintain that >"w1 is 03 in the X7n3 that 2221 [0 P2y X927 &"R]; however the Xn)
should have mentioned 710°1 (not 712°¥2) since that is what the 72wn in 1"V is discussing. [Alternately the X3 should
have clarified what this soldier is doing (when he escapes); i.e. that he is 701. Otherwise it is not that clear.
However according to m201n that the question is on our 71wn, there is no need to explain what she did; if she escapes
she is obviously nnn.]
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And in addition (#4), the 71wn there in 1"y explains the reason why the wine is

1N because the nw912 has no time to be o372 -
- 9591 %32 NN HPNYNY DY MY NIIN Y 01993 PRY 295 RNPYO 1% 19

And it did not give the reason that the 21292 of the local kingdom does not
want to destroy the property of the citizens of the city, as >"v1 maintains.

One final question:

- 2005w nywn YN NYY XY NN )
And finally (#5) why is there a difference (regarding the nw>2 in 1"y 'on) whether
it is a time of war or if it is a time of peace; in all cases all the wine should be 2nm

since according to *"w1 the N12%7» MR 2w 013715 does not want Vi1 °12 DR NP wno?!

mooin offers an [alternate] explanation [according] to >"w75:
- 29903190 NVIY 295 AUNY Y

And we can explain the X713 (even) according to "2 -
- 9% DAY NINNN PIPIND P9MIVY SNN NY MTYIN 12 PNYS 397
That X'"29 did not come to reconcile the contradiction from our mw» (which
states MMOR) to the 71wn of $'"Y (which states MNn) -
= HINN MIYN YV 019992 2193 ONNT PHINMDI 291 297 NINPY NY 5N NIN
For rather X"21 agrees with the answer of »''9 that there is a difference between
01 (for which they have no time) and 79°v2a (for which they have time since 7°pn
7% 112), and the 3w there in 1"V is also discussing a 21972 of a nanR ndY» -
- 117531 Y1995 NIN Xa N9

And R'"2%9 is only coming to explain our 73w that even though »n"1 answered that
X190 077 w° 7w1aY (and therefore MM10KR 0910) that is only NANX M2%1 YW 015753, however W 0137122
M2 MR, they are MMM since 1% 12 PAWAR 7317 10K,

= VYT PINAN XINT PHINNN 0NN 70997 (vxy 41 DT NPT XINA 7992 ¥RYN 19

%0 On the contrary during peace time the 21913 certainly does not want 1°v7 *32 nX P nw:!
2 However according to nMvOIN that we are discussing our 71wn, and the distinction is whether there is *X19 or not;
the above mentioned questions are not relevant, and there is very good reason to distinguish between manon nyw
where there is no *X1d to 217w NYW where there is >X1o.
*2 The following explanation will answer all the question on *"w"2 [except for the first one (see [however] 2"w1mm)].
2 See marginal note that others amend this to read, Pn°annT X217 ™Iw5.
** Question #2 is answered because we are not discussing the 73wn of nw2 and therefore indeed in our 73w the city
is secure and no one can enter. The &3 could not have said 7017 (question # 3) since we are discussing our 7wn
regarding 72°va. There is no question (#4) why we do not mention 7017 *X12 PRW because in our 7I1wn we are not
discussing 7701 And indeed there is no difference in our 71wn whether it is a %1 YW or 2w NYW (#5).
2 1t will be necessary to say that the W% of 131 183 "3 183 does not refer to the two nvawn, but rather to two cases
regarding our mIwn.
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And it also seems this way from the X773 in the last P99 of 1"'¥ noon, where the
X2 there asks from our 712 here on the mwn there of NW»a (as the X7 asks
here), and the X773 there offers only the answer of n'" -

:oNY Y297 0NN 9599 NYY
But does not mention there the answer of 7Y?X 12 9'"9; indicating that X" is not
reconciling the N 1wn, but rather qualifying the answer of 1" regarding our 71wn here.

SUMMARY

""w1 (according to NM9OIN) maintains that our mwn discusses NNX M2%», and the
mawn in 1"y discusses Ma%n anIX. However modin maintains the exact opposite. It is
possible that °"w9 maintains that both nvrawn are NINR N and X" s
differentiating in our mw» whether it is IR Mo%% (Where it is MOX) or M2I%n INK
(where it 1s MN).

THINKING IT OVER

1. It appears from Moo that in the X°¥2°X of 7°n7° " regarding a X217 which is
NMR RPR NPIAn AR, that we are not certain if even one woman hid in the axanmn.*’
However the phrase, X7 1177 X7 X717 92 117K 2; indicates that one certainly hid!

2. Mmoo asks on *"wa (#1), how can the X3 ask regarding the nwba that we
should be Xmn> 7210, when by 1X12mn we are X992 72102 Seemingly by nwva we
are discussing wine (1"v2 710°), therefore the X mx asks that we should be 7910
X2, however by nX1anm we are discussing a 7Maw; therefore we are X?p% 7910,
since P77 Mawal?

3. How will mooin explain why (according to m»doin [own] view) the X713 in 7"V
did not offer the answer™ of TR 72 Py 59131

%0 See ‘Thinking it over’ # 3.
7 See footnote # 12.
% See footnote # 15.
¥ See R"wAn.
3 See footnote # 26.
31 See 7"am.
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